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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| H$m CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give answer of the following questions:

	 {ZåZ àíZm| Ho$ CÎma Xr{O¶o&

	 (i)	 What do you mean by Bonded labour?

		  ~§YwAm ‘µOXÿa go Amn ³¶m g‘PVo h¢&

	 (ii)	 Give two characteristics of labour market.

		  l‘ ~mµOma H$s Xmo {deofVmE± ~VmB¶o&

	 (iii)	 Explain how the stage of economic development affect 

the labour force participation rate.

		  Am{W©H$ {dH$mg H$s AdñWm l‘ep³V gh^m{JVm H$mo H¡$go à^m{dV 
H$aVr h¡? {ddoMZm H$s{O¶o&

	 (iv)	 What do you mean by occupational mobility?

		  ì¶mdgm{¶H$ J{VerbVm ‘| Amn ³¶m g‘PVo h¢&

	 (v)	 Explain the meaning of minimum wages in India.

		  "^maV ‘o§ Ý¶yZV‘ ‘OXÿar' H$m AW© g‘PmB¶o&

	 (vi)	 Give two recommendations of Bonus Commission.

		  ~moZg Am¶moJ H$s Xmo {g’$m[aeo ~VmB¶o&

	 (vii)	Give three benefit of labour welfare programmes.

		  l‘ H$ë¶mU H$m¶©H«$‘m| Ho$ VrZ bm^ ~VmB¶o&

	 (viii)	Give three weaknesses of Trade Union in India.

		  ^maV ‘| l‘ g§Km| H$s VrZ H$‘Omo[a¶m± ~VmB¶o&
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Define labour market. Give suggestions for developing and 
improving the Indian labour market.

	 l‘ ~mOma H$mo n[a^m{fV H$s{O¶o& ^maVr¶ l‘ ~mOma Ho$ {dH$mg Ed§ 
gwYma Ho$ {bE gwPmd Xr{O¶o&

3)	 Examine the most acceptable theory of wage determination. 
Establish its superiority and compare it with the other important 
wage theories.

	 ‘OXÿar {ZYm©aU Ho$ gd©‘mÝ¶ {gÕmÝV H$s narjm H$s{O¶o& Bg {gÕmÝV 
H$s loîR>Vm gm{~V H$s{O¶o& VWm ‘OXÿar Ho$ AÝ¶ ‘hÎdnyU© {gÕmÝVm| go 
BgH$s VwbZm H$s{O¶o&

4)	 Define labour supply. Draw a backward bending labour supply 
curve. Explain why it is so.

	 l‘ ny{V© H$mo n[a^m{fV H$s{OE& EH$ nrN>o H$s Amoa ‘wS>Vm hþAm l‘ ny{V© 
dH«$ IrqM¶o& ñnîQ> H$s{O¶o {H$ ¶h Eogm ³¶m| hmoVm h¢?

5)	 Discuss the relationship between wages and productivity. How 
would you measure productivity of labour.

	 ‘OXÿar d CËnmXH$Vm ‘| gå~ÝY ~VmB¶o& l‘ H$s CËnmXH$Vm Amn H¡$go 
Zmn|Jo&
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6)	 Discuss the meaning and objectives of minimum wages.

	 Ý¶yZV‘ ‘OXÿar H$m AW© Ed§ bú¶m| H$m {ddoMZ H$s{O¶o&

7)	 Discuss the characteristics and problems of rural labour in 

India.

	 ^maV ‘| J«m‘rU l‘ H$s {deofVmE± Ed§ g‘ñ¶mE§ ~VmB¶o&

8)	 Give the main causes of child labour in India and suggest 

measures to control it.

	 ^maV ‘| ~mbl‘‘ Ho$ H$maU ~VmB¶o Ed§ Cgo {Z¶pÝÌV H$aZo Ho$ Cnm¶ 
gwPmB¶o&

9)	 What is meant by constructive and responsible trade unionism, 

particularly in the context of a developing country?

	 EH$ {dH$mgerb Xoe Ho$ {deof g§X^© ‘| aMZmË‘H$ VWm CÎmaXm¶r l‘ 
g§KdmX go ³¶m VmËn¶© h¡?

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn H$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 
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10)	 Which is suitable technique for a developing country like India? 

What are the criterion for the choice of a proper technique?

	 ^maV O¡go {dH$mgerb Xoe Ho$ {bE H$m¡Zgr VH$ZrH$ Cn¶w³V h¡? Cn¶w³V 
VH$ZrH$ M¶Z H$s ³¶m H$gm¡{Q>¶m± h¢?

11)	 Explain the dualism in labour market. What are the different 

models of labour market? Discuss.

	 l‘ ~mµOma ‘| Û¡VdmX H$s {ddoMZm H$s{OE& l‘ ~mOma Ho$ {d{^ÝZ ‘m°S>b 
³¶m h¢? ì¶m»¶m H$s{O¶o&

12)	 Discuss the present machinery of settlement of industrial 

disputes in India. How can this machinery be made more 

effective.

	 ^maV ‘| Am¡Úmo{JH$ {ddmXm| H$mo {ZnQ>mZo H$s dV©‘mZ ì¶dñWm H$mo g‘PmB¶o& 
Bg ì¶dñWm H$mo H¡$go A{YH$ à^mdnyU© ~Zm¶m Om gH$Vm h¡?

13)	 How does social security differ form labour welfare? Is it 

possible to have a unified scheme of social security in India? 

Give reasons for your answer.

	 gm‘m{OH$ gwajm l‘ H$ë¶mU go {H$g àH$ma {^Þ h¡? ³¶m ^maV ‘| 
gm‘m{OH$ gwajm H$s EH$sH¥$Vr ¶moOZm AnZmZm g§^d h¢? H$maU g{hV 
CÎma Xr{OE&


